Check for updates

OPEN ACCESS

EDITED BY Paola A. Haeger, Catholic University of the North, Chile

REVIEWED BY Daniele Corbo, University of Brescia, Italy Christopher D. Kroenke, Oregon Health & Science University, United States

*CORRESPONDENCE Catherine Lebel ⊠ clebel@ucalgary.ca

RECEIVED 25 February 2023 ACCEPTED 09 May 2023 PUBLISHED 02 June 2023

CITATION

Ostertag C, Reynolds JE, Kar P, Dewey D, Gibbard WB, Tortorelli C and Lebel C (2023) Arcuate fasciculus and pre-reading language development in children with prenatal alcohol exposure. *Front. Neurosci.* 17:1174165.

doi: 10.3389/fnins.2023.1174165

COPYRIGHT

© 2023 Ostertag, Reynolds, Kar, Dewey, Gibbard, Tortorelli and Lebel. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.

Arcuate fasciculus and pre-reading language development in children with prenatal alcohol exposure

Curtis Ostertag^{1,2}, Jess E. Reynolds^{2,3,4}, Preeti Kar^{1,2}, Deborah Dewey^{2,3,5,6}, W. Ben Gibbard^{2,5}, Christina Tortorelli⁷ and Catherine Lebel^{2,3,8*}

¹Cumming School of Medicine, University of Calgary, Calgary, AB, Canada, ²Alberta Children's Hospital Research Institute, University of Calgary, Calgary, AB, Canada, ³Hotchkiss Brain Institute, University of Calgary, Calgary, AB, Canada, ⁴Telethon Kids Institute, The University of Western Australia, Perth, WA, Australia, ⁵Department of Pediatrics, University of Calgary, Calgary, AB, Canada, ⁶Department of Community Health Sciences, University of Calgary, Calgary, AB, Canada, ⁷Department of Social Work, Mount Royal University, Calgary, AB, Canada, ⁸Department of Radiology, University of Calgary, Calgary, AB, Canada

Introduction: Prenatal alcohol exposure (PAE) contributes to widespread neurodevelopmental challenges, including reading, and has been associated with altered white matter. Here, we aimed to investigate whether arcuate fasciculus (AF) development is associated with pre-reading language skills in young children with PAE.

Methods: A total of 51 children with confirmed PAE (25 males; 5.6 ± 1.1 years) and 116 unexposed controls (57 males; 4.6 ± 1.2 years) underwent longitudinal diffusion tensor imaging (DTI), for a total of 111 scans from participants with PAE and 381 scans in the unexposed control group. We delineated the left and right AF and extracted mean fractional anisotropy (FA) and mean diffusivity (MD). Pre-reading language ability was assessed using age-standardized phonological processing (PP) and speeded naming (SN) scores of the NEPSY-II. Linear mixed effects models were run to determine the relationship between diffusion metrics and age, group, sex, and age-by-group interactions, with subject modeled as a random factor. A secondary mixed effect model analysis assessed the influence of white matter microstructure and PAE on pre-reading language ability using diffusion metric-by-age-by-group interactions, with 51 age- and sex-matched unexposed controls.

Results: Phonological processing (PP) and SN scores were significantly lower in the PAE group (p < 0.001). In the right AF, there were significant age-by-group interactions for FA (p < 0.001) and MD (p = 0.0173). In the left AF, there was a nominally significant age-by-group interaction for MD that failed to survive correction (p = 0.0418). For the pre-reading analysis, a significant diffusion-by-age-by-group interaction was found for left FA (p = 0.0029) in predicting SN scores, and for the right FA (p = 0.00691) in predicting PP scores.

Discussion: Children with PAE showed altered developmental trajectories for the AF, compared with unexposed controls. Children with PAE, regardless of age, showed altered brain-language relationships that resembled those seen in

younger typically developing children. Our findings support the contention that altered developmental trajectories in the AF may be associated with functional outcomes in young children with PAE.

KEYWORDS

prenatal alcohol exposure, FASD, MRI, development, children, language, magnetic resonance imaging

1. Introduction

Prenatal alcohol exposure (PAE) contributes to widespread neurodevelopmental and health challenges including cognitive and behavioral deficits, growth deficiencies, and/or craniofacial abnormalities (Cook et al., 2016; Mattson et al., 2019). Children who experience complex impacts of PAE may go on to be diagnosed with fetal alcohol spectrum disorder (FASD), which has an estimated prevalence of approximately 4% in North America (Cook et al., 2016; Flannigan et al., 2018; May et al., 2018; Popova et al., 2019).

Previous diffusion magnetic resonance imaging (dMRI) studies have reported extensive alterations to white matter microstructure in school-aged children, youth, and young adults with PAE (Lebel et al., 2008; Donald et al., 2015a; Ghazi Sherbaf et al., 2019), including lower fractional anisotropy (FA) and higher mean diffusivity (MD) compared to unexposed controls (Ghazi Sherbaf et al., 2019). These findings appear to be reversed in younger children, with higher FA and/or lower diffusivity in young children and infants with PAE compared to unexposed controls (Donald et al., 2015b; Kar et al., 2021). There are few longitudinal neuroimaging studies of PAE; however, they suggest that patterns of brain development are also altered in children with PAE, with slower maturation seen in young children (Kar et al., 2022) and faster development in older children (Treit et al., 2013). Longitudinal research is critical to capture the nuances of brain development during early childhood, which is a period of rapid brain growth (Lebel and Deoni, 2018). A better understanding of brain development at early ages may help identify sensitive periods for targeted interventions in children with PAE.

Prenatal alcohol exposure (PAE) negatively impacts cognitive and behavioral domains of functioning, including but not limited to general intelligence, motor skills, attention, executive function, learning, memory, and language (Mattson et al., 2019). Language and reading are areas of particular interest as deficits emerge during early childhood and can significantly influence social and educational outcomes. Worse receptive and expressive language abilities have been noted in children with FASD, and linked to problems with learning (Wyper and Rasmussen, 2011). Children and adolescents with PAE show deficits in reading comprehension and verbal fluency (O'Leary et al., 2013; Lindinger et al., 2022). A recent study showed comparable single word reading and phonological processing (PP) skills in adolescents with FASD compared to controls, but poorer reading comprehension, suggesting that even though the mechanics of reading may be intact at older ages in individuals with FASD, comprehension continues to be a problem (Lindinger et al., 2022).

In typically developing children, reading is supported by a network of left-lateralized brain regions in frontal, parietal, and temporal areas, including the Sylvian-parietal-temporal (SPT) area (Hickok and Poeppel, 2007; Buchsbaum and D'Esposito, 2008). These regions are connected by white matter tracts, which enable communication among regions and facilitate reading (Pugh et al., 2001; Vandermosten et al., 2012). White matter tracts classically associated with reading include the superior longitudinal fasciculus (SLF), inferior longitudinal fasciculus (ILF), inferior fronto-occipital fasciculus (IFOF), corona radiata, and uncinate fasciculus (UF) (Vandermosten et al., 2012; Lebel et al., 2019a; Meisler and Gabrieli, 2022). Another important region is the arcuate fasciculus (AF), a subdivision of the SLF, which is a white matter tract that plays a critical role in language processing, connecting the speech comprehension (Wernicke's) area in the posterior temporal lobe to the speech production (Broca's) area in the frontal lobe (Hickok and Poeppel, 2004). In conjunction with the SPT area, it maps sound-motor integration and supports phonological aspects of reading and speech (Vigneau et al., 2006), making it an interesting target of study in the context of PAE. In the AF of typically developing children, FA increases with age while MD decreases with age (Reynolds et al., 2019b). Notably, AF macrostructure is left lateralized in adults and typically developing children as young as 2 years of age (Lebel and Beaulieu, 2009; Qiu et al., 2011; Reynolds et al., 2019b), whereas functional and microstructural lateralization of the AF appear to develop more gradually across childhood (Reynolds et al., 2019b). FA, MD, and lateralization of the AF have all been linked to reading skills in school-aged children (Lebel and Beaulieu, 2009; Cheema et al., 2018). Similar relationships have also been observed in younger children, with AF microstructure linked to pre-reading language skills (Saygin et al., 2013; Reynolds et al., 2019b).

The neural correlates of reading and language difficulties in individuals with PAE are not well understood. One fMRI study found greater activation in the right precentral gyrus during PP tasks, as well as more rightward lateralization of FA in the ILF in children and adolescents with FASD compared to children with PAE but without FASD diagnoses or typically developing controls (Yu et al., 2022); however, they found no group differences in arcuate or SLF FA. Studies of the whole SLF (including the arcuate) report no microstructural differences (Kar et al., 2021) or lower FA compared to unexposed controls (Lebel et al., 2008). These varying results suggest that the AF requires further study to pinpoint microstructural abnormalities and to better understand how they may relate to reading difficulties in children with FASD. This is especially important to understand in early childhood as pre-reading skills develop rapidly and lay the foundation for later reading acquisition (Lonigan et al., 2000). Understanding the microstructural development of the AF and how this is associated with pre-reading skills in children with PAE will help in identifying the neurobiological correlates of reading difficulties in FASD and when they emerge.

The dynamic nature of brain maturation, especially during early childhood, makes longitudinal studies of white matter development critical in connecting brain alterations to functional outcomes in PAE. Early childhood is especially important to understand, as it is a time when many difficulties associated with PAE first become apparent, yet it remains largely unexplored in neuroimaging studies of PAE (Donald et al., 2015a). This study aimed to characterize development of AF microstructure in young children with PAE, and investigate its relationship to pre-reading language skills, using longitudinal MR imaging.

2. Materials and methods

2.1. Participants with PAE

A total of 57 children between 2 and 7 years of age with PAE were recruited through caregiver support groups, early intervention services, and the Ministry of Children's Services in Alberta, Canada. Exclusion criteria were: birth before 34 weeks' gestation, English not a primary language for the child, a history of head trauma, a diagnosis of autism spectrum disorder, cerebral palsy, epilepsy or any other medical or genetic disorder associated with serious motor or cognitive disability, and contraindications to MRI (e.g., metal implants, dental braces). Children with attention deficit hyperactivity disorder, learning disabilities, language delays, and/or mental health diagnoses were included, as these diagnoses are frequently comorbid with PAE. No participants had been diagnosed with FASD, as most clinics in Alberta do not assess children for FASD until age 7 years. Of the 57 children recruited, one was excluded for an incidental finding on MRI, 2 children did not feel comfortable participating in MRI scanning, and 3 children were excluded at analysis due to our inability to delineate the left and right arcuate. The final sample included in the analysis consists of 51 children (25 males/26 females; mean age for all scans: 5.65 \pm 1.11 years) who provided a total of 111 diffusion tensor imaging (DTI) scans (2.2 \pm 0.9 scans/participant); age at scan ranged from 3.13 to 8.07 years. The mean age at first scan was 5.3 \pm 1.1 years. The distribution of number of scans per participant was as follows: 14 participants with 1 scan, 17 participants with 2 scans, 17 participants with 3 scans, and 3 participants with 4 scans (Figure 1). Other neuroimaging results from these children have been published previously (Kar et al., 2021, 2022).

All participants had PAE confirmed via medical, legal, or child welfare files, as well as interviews with biological and/or adoptive/foster families. A total of 33% (n = 17) of participants had confirmed PAE greater than or equal to the threshold indicated by the Canadian guidelines for diagnosing FASD (Cook et al., 2016): \geq 7 drinks in 1 week and/or two or more binge episodes (\geq 4 drinks at one time) during pregnancy. A total of 67% (n = 34) had confirmed PAE of an unspecified amount.

2.2. Control participants

Typically developing participants were part of the Calgary Preschool MRI Study (Reynolds et al., 2020) and were recruited from Calgary and surrounding areas, as well as the Alberta Pregnancy Outcomes and Nutrition (APrON) study (Kaplan et al., 2014; Letourneau et al., 2022). Inclusion criteria were born > 36 weeks' gestation, English as the primary language, no contraindications to MRI scans, and no history of developmental disorders or brain trauma. From this cohort, there were 381 high quality scans in 116 participants (3.3 \pm 2.7 scans/participant) ranging from 1.95 to 7.63 years (mean age for all scans: 4.61 \pm 1.20 years). The mean age at first scan was 4.0 \pm 1.0 years. The distribution of numbers of scans per participant ranged from 1 to 20 and is as follows: 39 participants with 1 scan, 22 participants with 2 scans, 8 participants with 3 scans, 11 participants with 4 scans, 14 participants with 5 scans, 12 participants with 6 scans, 8 participants with 7 scans, 1 participant with 12 scans, and 1 participant with 20 scans (Figure 1). Unexposed control participants had confirmed absence of PAE based on prospective questionnaires and interviews completed with the mothers during pregnancy that asked directly about alcohol consumption.

Parent/guardian written informed consent and child verbal assent were obtained for each participant. The University of Calgary Conjoint Health Research Ethics Board (CHREB) approved this study (REB14-2266, REB13-020).

2.3. Language assessments

Participants \geq 3 years completed the PP and speeded naming (SN) subtests of the NEPSY-II (Korkman et al., 2007) at each MRI scan timepoint. Phonological processing (PP) Standard scores and SN Combined Scaled Scores were used for analysis. The population means for standard scores are 10, with scores below the 26th percentile (score of 8), reflecting deficits (Korkman et al., 2007).

2.4. MRI image acquisition

All imaging was conducted using the same General Electric 3T MR750w system and 32-channel head coil at the Alberta Children's Hospital, Calgary, Canada. Children were scanned either while awake and watching a movie of their choice or while sleeping without sedation. Foam padding was used to minimize head motion. Prior to scanning, parents were provided with detailed information of MRI procedures and were invited to an optional practice MRI session in an MRI mock scanner to familiarize the child with the scanning environment (Thieba et al., 2018). Whole-brain diffusion weighted images were acquired in 4:03 min using single shot spin echo echo-planar imaging sequence with: 1.6 mm \times 1.6 mm \times 2.2 mm resolution (resampled to 0.78 mm \times 0.78 mm \times 2.2 mm on scanner), TR = 6,750 ms; TE = 79 ms, 30 gradient encoding directions at b = 750 s/mm², and 5 interleaved images without diffusion encoding at $b = 0 \text{ s/mm}^2$.



2.5. Data processing

Diffusion tensor imaging (DTI) data was visually inspected for quality, and volumes with artifacts or motion corruption were removed, per our previous methods (Walton et al., 2018; Reynolds et al., 2019a). All datasets included in the analysis had \geq 18 highquality volumes. Following corrupted volume removal, data was pipelined through ExploreDTI (V4.8.6) for correction for signal drift, Gibbs ringing (non-DWIs), subject motion, and eddy current distortions (Leemans et al., 2009).

Fiber tracking was performed using a deterministic streamline method in ExploreDTI. A minimum FA threshold of 0.20 was set to initiate and continue tracking, with angle threshold set to 30° . Using a priori location information on AF anatomy (Wakana et al., 2004; Lebel and Beaulieu, 2009), inclusion and exclusion regions of interest (ROI) were drawn on the left and right hemisphere separately, in each subject, per our previously published methods (Reynolds et al., 2019b). The number of streamlines, and mean values of FA and MD (mm²/s) were extracted for each tract. FA and MD mean values were calculated by computing an average of all voxels containing a portion of the tract, weighted by the number of streamlines intersecting with each voxel. Tracts with fewer than 10 streamlines were deemed unsuccessful and excluded from analysis. The left arcuate was successfully delineated in 111 of the 122 PAE datasets acquired (91%) and all 381 of the unexposed control datasets (100%). The mean number of streamlines for the left AF was 231 \pm 144 in the PAE datasets and 295 \pm 169 in the

TABLE 1 Participant characteristics for growth trajectories.

	PAE (n = 51; 111 datasets)	Control (n = 116; 381 datasets)	p
Mean age at first scan (years)	5.27 ± 1.06	3.97 ± 1.03	< 0.001
Mean age across all scans (years)	5.65 ± 1.11	4.61 ± 1.20	<0.001
Age range (years)	3.13-8.07	1.95-7.63	
Mean number of scans per participant	2.18 ± 0.91	3.28 ± 2.71	0.005
Sex	25 M/26 F	57 M/59 F	0.828

PAE, prenatal alcohol exposure.

TABLE 2 Participant characteristics for the pre-reading language analysis subset.

	PAE (n = 51; 111 datasets)	Control (n = 51; 123 datasets)	p
Mean age at first scan (years)	5.27 ± 1.06	5.14 ± 0.99	0.54
Mean age across all scans (years)	5.65 ± 1.11	5.54 ± 1.04	0.42
Age range (years)	3.13-8.07	3.17-7.61	
Mean number of scans per participant	2.18 ± 0.91	2.35 ± 1.26	0.42
Sex	25 M/26 F	25 M/26 F	
Phonological processing std. score	9.94 ± 2.96	11.95 ± 2.66	< 0.001
Speeded naming combined scaled score	10.50 ± 3.26	11.96 ± 2.87	< 0.001

PAE, prenatal alcohol exposure.

control datasets. The right arcuate could not be delineated in 31 of the 122 PAE datasets (25%) and 38 of the 381 unexposed control datasets (10%). The mean number of streamlines for the right AF was 151 \pm 141 in the PAE datasets and 155 \pm 122 in the control datasets.

2.6. Statistical analysis

RStudio version 1.4.1106 (R Core Team, 2020) and packages "lme4" (Bates et al., 2015), "lmerTest" (Kuznetsova et al., 2017) and "ggplot2" (Wickham, 2016) were used to carry out statistical analysis and plotting. Two-tailed *t*-tests were used to test group differences in pre-reading language scores (PP and SN), with a chisquare test used to test the distribution of scores below the < 26th percentile (Korkman et al., 2007) between each group. Linear mixed effects models were run to determine linear age-related changes in FA and MD for the left and right arcuate, as well as an asymmetry index [calculated as: (L-R)/(L + R)]. A positive asymmetry index for FA (higher FA in the left AF) and a negative asymmetry index for MD (lower FA in the left AF) indicate leftward asymmetry. Linear (y = age + sex + group + age*group + [1] Subject]) terms were modeled with age, sex, and age-group interactions as fixed factors



Linear growth trajectories for diffusion metrics in PAE and unexposed controls. Plots show individual data points as dots, with individual trajectories shown as thin lines, and the group trajectories displayed with thick lines. The PAE group is shown in red, while the unexposed control group is shown in gray. Plots (A–C) show the changes in mean diffusivity (MD) across ages. MD values in plots (B,C) are scaled up by 1,000. Plots (D–F) show the changes in fractional anisotropy across ages. Plots (A) and (F) show significant age-group interactions for MD in the left arcuate (p = 0.014; q = 0.043) and laterality index of FA (p = 0.025; q = 0.028), respectively. Plot (D) shows a nominally significant age-group interaction for FA in the left arcuate (p = 0.035), which failed to survive FDR correction (q = 0.07).

and subject as a random factor. Restricted maximum likelihood was set to false. The main measure of interest was age-group interactions, which indicates different linear growth trajectories between groups. MD values were scaled by 1,000 to make them like other values for analysis. False discovery rate (FDR) was used to correct for 6 multiple comparisons of interaction terms (2 diffusion parameters for the right and left arcuate, as well as laterality index), with significance set at q < 0.05 (Benjamini and Hochberg, 1995).

The NEPSY-II has two different age bands, split at 5 years. The age-standardized scores allow comparisons of children younger and older than 5 years; however, the control and PAE groups differed in their mean age (see above). Therefore, we age-matched groups for analysis of language assessments to ensure balance is maintained across the age bands. A total of 51 typically developing children were matched to the PAE group by age at first scan and sex. This subset of controls had a total of 123 scans (2.4 ± 1.3 scans/participant) ranging from 3.17 to 7.61 years, with a mean age at first scan was 5.1 ± 1.0 years.

We used linear mixed effects models to investigate the association between diffusion metrics (FA/MD), age, and group on pre-reading language ability (PP/SN) (y = diffusion metric + age + sex + group + diffusion metric*age*group + [1] Subject]). PP/SN scores, diffusion metrics, and age were included as continuous variables within the model, while sex and group were categorical. The key outcome of interest was the relationship between diffusion metrics and pre-reading language ability

TABLE 3 Linear mixed effects model parameters for MD.

Mean diffusivity (x10 ³ mm ² /s)	Parameter estimate (SE)	t	p (q)
Left AF			
Intercept	0.905 (0.004)	209.112	<2E-16***
Age	-0.014 (0.001)	-19.72	<2E-16***
Sex	-0.010 (0.004)	-2.792	0.006
Group	-0.025 (0.012)	063	0.040*
Age*group	0.005 (0.002)	2.46	0.014* (0.043)
Right AF			
Intercept	0.884 (0.005)	169.982	<2E-16***
Age	-0.011 (0.001)	-11.948	<2E-16***
Sex	-0.011 (0.004)	-2.773	0.006**
Group	0.005 (0.015)	0.316	0.752
Age*group	0.001 (0.003)	0.335	0.738
Laterality index			
Intercept	0.013 (0.003)	3.518	0.0005***
Age	-0.002 (0.001)	-2.813	0.005**
Sex	0.001 (0.002)	0.545	0.587
Group	-0.012 (0.009)	-1.324	0.186
Age*group	0.002 (0.002)	1.067	0.287

Results are shown for linear mixed models comparing age-related brain changes between children with PAE and unexposed controls. Significant differences in the main effects are shown as: *(p < 0.05), **(p < 0.01), ***(p < 0.001). Significant differences in the age-group interactions that survived multiple comparison (q < 0.05) are bolded, with the corresponding q value in parentheses. AF, arcuate fasciculus; SE, standard error.

at different ages. FDR correction was used to correct for 6 comparisons (2 diffusion parameters for the right and left arcuate, as well as laterality index) for both PP and SN models.

For plotting the pre-reading language analysis results, diffusion metrics were residualized for age and sex, and data points were split at age 5 (in accordance with the NEPSY-II age bands) to create 4 main group trajectories: PAE young, PAE old, unexposed young, and unexposed old.

3. Results

3.1. Participant characteristics

Participant characteristics are displayed in Table 1 (for the growth trajectories) and Table 2 (for the pre-reading language analysis subset). The mean PP score was 9.9 ± 3.0 in the PAE group and 12.0 ± 2.7 in the control group. The mean SN score was 10.5 ± 3.3 in the PAE group and 12.0 ± 2.9 in the unexposed control group. PP and SN scores were significantly lower in the PAE group compared to the unexposed controls (p < 0.001) (Table 2), though the mean scores in the PAE group are at the population mean (10). The PAE group had a significantly higher proportion of low PP scores (19 vs. 3% of datasets; p < 0.001) and low SN scores (19 vs. 7% of datasets; p = 0.016) than the controls.

TABLE 4 Linear mixed effects model parameters for FA.

Fractional anisotropy	Parameter estimate (SE)	t	p
Left AF			
Intercept	0.403 (0.003)	119.413	<2E-16***
Age	0.008 (0.001)	15.512	<2E-16***
Sex	0.002 (0.003)	0.764	0.446
Group	0.024 (0.009)	2.583	0.010*
Age*group	-0.003 (0.002)	-2.110	0.035*(0.07)
Right AF			
Intercept	0.397 (0.006)	71.182	<2E-16***
Age	0.007 (0.001)	7.407	1.1E-12***
Sex	0.007 (0.005)	1.575	0.117
Group	-0.042 (0.016)	-2.578	0.010*
Age*group	0.005 (0.003)	1.925	0.055
Laterality index			
Intercept	0.010 (0.007)	1.386	0.167
Age	0.001 (0.001)	0.812	0.418
Sex	-0.006 (0.005)	-1.040	0.300
Group	0.073 (0.021)	3.563	0.0004***
Age*group	-0.010 (0.004)	-2.840	0.005**(0.028)

Results are shown for linear mixed models comparing age-related brain changes between children with PAE and unexposed controls. Significant differences in the main effects are shown as: *(p < 0.05), **(p < 0.01), ***(p < 0.001). Significant differences in the age-group interactions that survived multiple comparison correction (q < 0.05) are bolded, with the corresponding q value in parentheses. Nominally significant age-group interactions that failed to survive multiple comparison correction are italicized, with the corresponding q value in parentheses. AF arcuate fasciculus: SE, standard error.

3.2. Growth trajectories

A significant age-group interaction was detected for MD in the left arcuate (p = 0.014, q = 0.043). There were no significant age-group interactions for MD in the right arcuate (p = 0.74) or for the laterality index (p = 0.29). For FA, there was a significant age-group interaction for laterality index (p = 0.005, q = 0.028). There was a nominally significant age-group interaction for FA in the left arcuate (p = 0.035) that failed to survive FDR correction (q = 0.07). The age-group interaction was not significant for FA in the right arcuate (p = 0.055). Growth trajectories are displayed in Figure 2, with model outputs in Tables 3, 4.

Group main effects were significant in several models, including FA in the left arcuate (p = 0.010), the right arcuate (p = 0.010), and the laterality index (p = 0.0004); and MD in the left arcuate (p = 0.040). The PAE group showed higher overall FA in the left arcuate and higher (more leftward) FA laterality than controls, with lower FA in the right arcuate and lower MD in the left arcuate.

3.3. Pre-reading language models

There were two significant three-way FA-age-group interactions detected: for PP and the right arcuate (p = 0.008, q = 0.0495) and for SN and the left arcuate (p = 0.003, q = 0.017)



(Figure 3). There were two nominally significant interactions that failed to survive FDR correction: a laterality index FA-age-group interaction for PP (p = 0.033, q = 0.098) and an MD-age-group interaction for SN and the left arcuate (p = 0.031, q = 0.093) (Figure 3). All other three-way interactions were non-significant (see Tables 5, 6).

4. Discussion

Here, we show altered developmental trajectories of AF microstructure in young children with PAE compared to unexposed controls. Our study also found reduced pre-reading language abilities in children with PAE compared to unexposed controls. Although both group means are in line with population norms (scores of \sim 10), deficits (standard scores < 8) were more common in the PAE group.

The PAE group showed slower age-related decreases of MD in the AF than controls (see **Tables 5**, 6 for model interaction outputs and **Supplementary Tables 1**, 2 for model main effects). Initially, the PAE group had lower MD values than controls, but controls had steeper decreases of MD, leading to higher MD in the PAE group at the upper end of our age range. This aligns with our prior findings in the genu of the corpus callosum, the UF, the ILF, and the IFOF in the same participants (Kar et al., 2022). A similar pattern of slower development for FA was observed, although not significant, in the left AF. A recent study found no arcuate FA differences in adolescents with PAE-related facial dysmorphology (FASD/partial FASD) or heavy PAE non-FASD-diagnosed adolescents, compared to typically developing adolescents (Yu et al., 2022), perhaps suggesting these differences are more prominent at younger ages. These results are consistent with studies of other children at risk of reading disorders. For example, pre-reading children with a family history of dyslexia have lower FA and reduced leftward lateralization in the arcuate compared to children without a family history of dyslexia (Wang et al., 2017). Further, in both groups, the rate of FA development across the ILF, SLF, and arcuate positively correlated with reading development, suggesting that white matter development plays a role in both typical and atypical reading skill development (Wang et al., 2017). This may suggest children with PAE have similar neural correlates and developmental patterns to children at risk for other disorders associated with reading difficulties.

Lateralization of FA in the AF also showed significant groupby-age interactions. The PAE group began with strong leftward lateralization (higher FA in the left arcuate) and became more

TABLE 5 Phonological processing model interaction outputs.

Phonological processing standard score	Parameter estimate (SE)	t	p (q)
Left AF FA			
FA*age*group	8.34 (14.54)	0.574	0.567
FA*group	-24.35 (78.03)	-0.312	0.755
FA*age	-10.12 (10.51)	-0.962	0.337
Age*group	-3.50 (6.55)	-0.535	0.593
Intercept	-14.51 (24.77)	-0.586	0.559
Left AF MD			
MD*age*group	1.86 (11.88)	0.157	0.875
MD*group	-24.93 (65.06)	-0.383	0.702
MD*age	0.51 (8.43)	0.061	0.952
Age*group	-1.42 (9.86)	-0.144	0.886
Intercept	10.91 (37.52)	0.291	0.772
Right AF FA			
FA*age*group	25.58 (9.58)	2.67	0.00825**(0.0495)
FA*group	-125.96 (52.42)	-2.403	0.017*
FA*age	-10.48 (7.02)	-1.493	0.138
Age*group	-10.55 (4.09)	-2.577	0.011**
Intercept	-13.15 (17.22)	-0.764	0.446
Right AF MD			
MD*age*group	-2.30 (11.70)	-0.197	0.844
MD*group	9.71 (64.34)	0.151	0.880
MD*age	3.36 (6.76)	0.498	0.620
Age*group	2.20 (9.71)	0.227	0.821
Intercept	24.73 (31.09)	0.795	0.428
Laterality index FA			
LI*age*group	-18.00 (8.36)	-2.154	0.0325*(0.0975)
LI*group	94.12 (46.53)	2.023	0.0446*
LI*age	7.45 (6.65)	1.121	0.264
Age*group	0.94 (0.42)	2.242	0.0261*
Intercept	10.22 (1.56)	6.544	6.97E-10***
Laterality index MD			
LI*age*group	6.87 (23.53)	0.292	0.771
LI*group	-56.45 (126.26)	-0.447	0.655
LI*age	-9.61 (13.97)	-0.7688	0.493
Age*group	0.29 (0.35)	0.848	0.398
Intercept	9.10 (1.29)	7.070	3.46E-11***

Results are shown for the linear mixed effects models that compared diffusion-age-group interactions in predicting PP scores. Only the interaction terms and the intercept are shown. Stars correspond to the following *p*-values: *(p < 0.05), **(p < 0.01), ***(p < 0.001). Significant three-way interactions that survived multiple comparison correction (q < 0.05) are bolded, with the corresponding *q* value in parentheses. Nominally significant three-way interactions that failed to survive multiple comparison correction are italicized, with the corresponding *q* value in parentheses. Significant three-way interactions and intercepts are starred, but not bolded, as these were not corrected for. AF, arcuate fasciculus; SE, standard error; FA, fractional anisotropy; MD, mean diffusivity; LI, laterality index.

rightward lateralized over time; controls remained consistently left lateralized. The change in the PAE group was driven by steeper increases of FA in the right arcuate than in the TABLE 6 Speeded naming model interaction outputs.

Speeded naming combined scaled score	Parameter estimate (SE)	t	p
Left AF FA		•	
FA*age*group	-48.79 (16.16)	-3.019	0.0029**(0.0174)
FA*group	229.4 (86.73)	2.645	0.0088**
FA*age	43.62 (11.75)	3.714	0.00026***
Age*group	22.43 (7.28)	3.08	0.0023**
Left AF MD			
MD*age*group	29.40 (13.54)	2.172	0.031*(0.093)
MD*group	-141.75 (74.23)	-1.91	0.0576
MD*age	-24.24 (9.74)	-2.49	0.0139*
Age*group	-23.67 (11.23)	-2.11	0.0362*
Right AF FA			
FA*age*group	-10.49 (11.08)	-0.948	0.345
FA*group	63.82 (60.59)	1.053	0.294
FA*age	15.61 (8.17)	1.91	0.058
Age*group	5.12 (4.74)	1.081	0.281
Right AF MD			
MD*age*group	16.1 (13.38)	1.203	0.231
MD*group	-83.8 (73.9)	-1.133	0.259
MD*age	-3.7 (7.93)	-0.467	0.641
Age*group	-12.86 (11.11)	-1.158	0.248
Laterality index FA			
LI*age*group	-10.05 (9.75)	-1.031	0.3038
LI*group	37.17 (54.35)	0.685	0.494
LI*age	3.12 (7.79)	0.4	0.689
Age*group	0.77 (0.48)	1.595	0.112
Laterality index MD			
LI*age*group	15.03 (27.07)	0.555	0.579
LI*group	-65.72 (144.85)	-0.454	0.651
LI*age	-24.61 (16.14)	-1.525	0.130
Age*group	0.49 (0.39)	1.235	0.218

Results are shown for the linear mixed effects models that compared diffusion-age-group interactions in predicting SN scores. Only the interaction terms and the intercept are shown. Stars correspond to the following *p*-values: *(p < 0.05), **(p < 0.01), ***(p < 0.001). Significant three-way interactions that survived multiple comparison correction (q < 0.05) are bolded, with the corresponding *q* value in parentheses. Nominally significant three-way interactions that failed to survive multiple comparison correction are italicized, with the corresponding *q* value in parentheses. Significant tractions and intercepts are starred, but not bolded, as these were not corrected for. AF, arcuate fasciculus; SE, standard error; FA, fractional anisotropy; MD, mean diffusivity; LI, laterality index.

left arcuate. Recent structural and functional MRI literature has demonstrated trends toward rightward lateralization of the language network in PAE and other disorders that impact reading. For example, adolescents with PAE show rightward laterality of FA in the ILF and greater activation of the right precentral gyrus during PP tasks than controls (Yu et al., 2022). Older children with dyslexia also show increased rightward laterality in white matter tracts associated with reading, including the IFOF and the SLF, with lateralization patterns related to individual differences in dyslexic children's reading abilities (Zhao et al., 2016). Greater engagement of the right hemisphere in poor readers has been commonly noted across studies (Pugh et al., 2001; Shaywitz et al., 2002; Waldie et al., 2013), including in pre-readers at risk for reading difficulties (Ostertag et al., 2022), which suggests compensation mechanisms in which alternate pathways are recruited to process reading tasks in the context of dysfunctional left hemispheric reading networks. The altered trends in microstructural arcuate development found in this study may contribute to the development of atypical reading pathways and may underlie the reading impairments displayed in the PAE group.

Both pre-reading language scores were lower in the PAE group, and more participants with PAE had scores below the 26th percentile than controls (33 vs. 8%). Reading and language abilities are known to be reduced in older children and adolescents with PAE (O'Leary et al., 2013; Mattson et al., 2019; Lindinger et al., 2022). Here, we show that pre-reading language deficits are apparent in some children with PAE even before the emergence of fluent reading skills. This suggests an important link between brain and language development, similar to what has been previously observed in non-exposed children (Saygin et al., 2013; Wang et al., 2017; Reynolds et al., 2019; De Vos et al., 2020).

The PAE group demonstrated an opposite relationship between SN scores and left arcuate FA compared to controls, such that better scores were associated with lower FA values. Interestingly, these trends mimic the younger age band of unexposed controls, suggesting that our findings may reflect brain immaturity. This is similar, although slightly less obvious, for the PP scores and right arcuate FA plot, such that both PAE groups (younger and older) showed trajectories of development of the arcuate similar to younger controls, with positive slopes, whereas the older controls show a negative slope. The faster development in the unexposed control group may represent a more dynamic period of establishing the expected brain-behavior relationships, which then are positively reflected in the older controls. The altered arcuate development in the PAE group could disrupt the organization of pre-reading language-microstructure relationships, thus reflecting the period of typical development where these relationships are theoretically weaker: younger ages. Considering the typical development of the AF where FA increases and MD decreases with age, with faster FA increases and MD decreases being related to better reading performance (Cheema et al., 2018), cohesiveness between white matter development and reading development is critical. Overall, these relationships suggest that the altered developmental trajectories in the arcuate could be associated with adverse functional pre-reading language outcomes.

5. Limitations and future directions

Brain alterations may depend on the timing, pattern, and amount of PAE, as well as exposures to other substances and experiences pre- or postnatally (Paintner et al., 2012; Lebel et al., 2019b; Hemingway et al., 2020; Flannigan et al., 2021). PAE was confirmed in all cases, however, precise information about dosage and timing is challenging to obtain retrospectively. Prospective studies that begin in the prenatal period and progress through childhood can capture more detail on PAE to compliment this work. Further, although pre-reading language skills have been linked to future reading outcomes (Wang et al., 2017), we cannot know which participants will go on to develop significant reading impairments. Future research should aim to pursue this issue longitudinally and identify early neural correlates of poor reading outcomes in children with PAE.

6. Conclusion

This was the first study to investigate microstructural development of the AF in young children with PAE. We found altered developmental trajectories for FA and MD in children with PAE when compared with unexposed controls. Pre-reading language skills were reduced in the PAE group, with scores low enough to be considered impaired significantly more prevalent in children with PAE. Relationships between pre-reading language skills and arcuate microstructure were altered in the PAE group, with children with PAE, regardless of age, displaying relationships that are more in line with a younger typically developing brain. This suggests that altered developmental trajectories are associated with adverse functional outcomes in young children with PAE.

Data availability statement

The healthy control datasets presented in this study can be found in online repositories at https://osf.io/axz5r/. The data on participants with PAE is available upon request from the corresponding author and with appropriate ethics approval.

Ethics statement

The studies involving human participants were reviewed and approved by the University of Calgary Conjoint Health Research Ethics Board. Written informed consent to participate in this study was provided by the participants' legal guardian/next of kin.

Author contributions

CO: conceptualization, methodology, data processing, analysis, investigation, writing the original draft, visualization, reviewing, and editing the draft. JR and PK: methodology, data collection and processing, investigation, reviewing, and editing the draft. DD: conceptualization, methodology, reviewing, editing the draft. WG: conceptualization, methodology, reviewing, editing the draft, and funding acquisition. CT: methodology, reviewing, and editing the draft. CL: conceptualization, methodology, writing the original draft, visualization, formal analysis, investigation, reviewing, editing the draft, project administration, funding acquisition, and overall project supervision. All authors contributed to the article and approved the submitted version.

Funding

This work was funded by grants from the Canadian Institutes of Health Research (CIHR) (IHD-134090, MOP-123535, and MOP-136797), the US National Institutes of Health (Exploration/Development Grant 1R21ES021295-01R21), and the Alberta Children's Hospital Foundation. Funding to establish the APrON cohort was provided by a grant from Alberta Innovates-Health Solutions (AIHS). Salary support was provided by the Canada Research Chairs Program (CL) and an NSERC Undergraduate Student Research Award (CO).

Acknowledgments

We acknowledge the contributions of the APrON Study Team. We are extremely grateful to all the families who took part in this study and the whole APrON team (http://apronstudy.ca).

References

Bates, D., Mächler, M., Bolker, B., and Walker, S. (2015). Fitting linear mixed-effects models using lme4. J. Stat. Softw. 67, 1–48.

Benjamini, Y., and Hochberg, Y. (1995). Controlling the false discovery rate: A practical and powerful approach to multiple testing. J. R. Stat. Soc. Series B Stat. Methodol. 57, 289–300.

Buchsbaum, B. R., and D'Esposito, M. (2008). The search for the phonological store: From loop to convolution. *J. Cogn. Neurosci.* 20, 762–778.

Cheema, K., Cummine, J., and For the Pediatric Imaging, Neurocognition, and Genetics Study (2018). The relationship between white matter and reading acquisition, refinement and maintenance. *Dev. Neurosci.* 40, 209–222. doi: 10.1159/00048 9491

Cook, J. L., Green, C. R., Lilley, C. M., Anderson, S. M., Baldwin, M. E., Chudley, A. E., et al. (2016). Fetal alcohol spectrum disorder: A guideline for diagnosis across the lifespan. *CMAJ* 188, 191–197.

De Vos, A., Vanderauwera, J., Vanvooren, S., Vandermosten, M., Ghesquiere, P., and Wouters, J. (2020). The relation between neurofunctional and neurostructural determinants of phonological processing in pre-readers. *Dev. Cogn. Neurosci.* 46:100874. doi: 10.1016/j.dcn.2020.100874

Donald, K. A., Eastman, E., Howells, F. M., Adnams, C., Riley, E. P., Woods, R. P., et al. (2015a). Neuroimaging effects of prenatal alcohol exposure on the developing human brain: A magnetic resonance imaging review. *Acta Neuropsychiatr.* 27, 251–269. doi: 10.1017/neu.2015.12

Donald, K. A., Roos, A., Fouche, J. P., Koen, N., Howells, F. M., Woods, R. P., et al. (2015b). A study of the effects of prenatal alcohol exposure on white matter microstructural integrity at birth. *Acta Neuropsychiatr.* 27, 197–205.

Flannigan, K., Kapasi, A., Pei, J., Murdoch, I., Andrew, G., and Rasmussen, C. (2021). Characterizing adverse childhood experiences among children and adolescents with prenatal alcohol exposure and fetal alcohol spectrum disorder. *Child Abuse Negl* 112:104888. doi: 10.1016/j.chiabu.2020.104888

Flannigan, K., Unssorth, K., and Harding, K. (2018). The prevalence of fetal alcohol spectrum disorder. Canada: FASD Research Network.

Ghazi Sherbaf, F., Aarabi, M. H., Hosein Yazdi, M., and Haghshomar, M. (2019). White matter microstructure in fetal alcohol spectrum disorders: A systematic review of diffusion tensor imaging studies. *Hum. Brain Mapp.* 40, 1017–1036. doi: 10.1002/hbm.24409

Hemingway, S. J. A., Davies, J. K., Jirikowic, T., and Olson, E. M. (2020). What proportion of the brain structural and functional abnormalities observed among children with fetal alcohol spectrum disorder is explained by their prenatal alcohol exposure and their other prenatal and postnatal risks? *Adv. Pediatr. Res.* 7:41.

Conflict of interest

The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Publisher's note

All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

Supplementary material

The Supplementary Material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/fnins.2023. 1174165/full#supplementary-material

Hickok, G., and Poeppel, D. (2004). Dorsal and ventral streams: A framework for understanding aspects of the functional anatomy of language. *Cognition* 92, 67–99. doi: 10.1016/j.cognition.2003.10.011

Hickok, G., and Poeppel, D. (2007). The cortical organization of speech processing. *Nat. Rev. Neurosci.* 8, 393–402.

Kaplan, B. J., Giesbrecht, G. F., Leung, B. M., Field, C. J., Dewey, D., Bell, R. C., et al. (2014). The Alberta pregnancy outcomes and nutrition (APrON) cohort study: Rationale and methods. *Matern. Child Nutr.* 10, 44–60. doi: 10.1111/j.1740-8709.2012. 00433.x

Kar, P., Reynolds, J. E., Gibbard, W. B., Mcmorris, C., Tortorelli, C., and Lebel, C. (2022). Trajectories of brain white matter development in young children with prenatal alcohol exposure. *Hum. Brain Mapp.* 43, 4145–4157.

Kar, P., Reynolds, J. E., Grohs, M. N., Gibbard, W. B., Mcmorris, C., Tortorelli, C., et al. (2021). White matter alterations in young children with prenatal alcohol exposure. *Dev. Neurobiol.* 81, 400–410.

Korkman, M., Kirk, U., and Kemp, S. (2007). Nepsy-II. San Antonio, TX: Pearson.

Kuznetsova, A., Brockhoff, B. P., and Christensen, R. (2017). ImerTest package: Tests in linear mixed effects models. J. Stat. Softw. 82, 1–26.

Lebel, C., and Beaulieu, C. (2009). Lateralization of the arcuate fasciculus from childhood to adulthood and its relation to cognitive abilities in children. *Hum. Brain Mapp.* 30, 3563–3573. doi: 10.1002/hbm.20779

Lebel, C., Benischek, A., Geeraert, B., Holahan, J., Shaywitz, S., Bakhshi, K., et al. (2019a). Developmental trajectories of white matter structure in children with and without reading impairments. *Dev. Cogn. Neurosci.* 36:100633.

Lebel, C., Mcmorris, C. A., Kar, P., Ritter, C., Andre, Q., Tortorelli, C., et al. (2019b). Characterizing adverse prenatal and postnatal experiences in children. *Birth Defects Res.* 111, 848–858.

Lebel, C., and Deoni, S. (2018). The development of brain white matter microstructure. *Neuroimage* 182, 207-218.

Lebel, C., Rasmussen, C., Wyper, K., Walker, L., Andrew, G., Yager, J., et al. (2008). Brain diffusion abnormalities in children with fetal alcohol spectrum disorder. *Alcohol. Clin. Exp. Res.* 32, 1732–1740.

Leemans, A., Jeurissen, B., Sijbers, J., and Jones, D. (2009). "ExploreDTI: A graphical toolbox for processing, analyzing, and visualizing diffusion MR data," in *Proceedings* 17th scientific meeting, international society for magnetic resonance in medicine, Honolulu, HI, 3537.

Letourneau, N., Aghajafari, F., Bell, R. C., Deane, A. J., Dewey, D., Field, C., et al. (2022). The Alberta pregnancy outcomes and nutrition (APrON) longitudinal study:

Cohort profile and key findings from the first three years. *BMJ Open* 12:e047503. doi: 10.1136/bmjopen-2020-047503

Lindinger, N. M., Jacobson, S. W., Davidson, L., Conradie, S., Dodge, N. C., Molteno, C. D., et al. (2022). Reading impairment in adolescents with fetal alcohol spectrum disorders. *Sci. Stud. Read.* 26, 469–488.

Lonigan, C. J., Burgess, S. R., and Anthony, J. L. (2000). Development of emergent literacy and early reading skills in preschool children: Evidence from a latent-variable longitudinal study. *Dev. Psychol.* 36, 596–613. doi: 10.1037/0012-1649.36.5.596

Mattson, S. N., Bernes, G. A., and Doyle, L. R. (2019). Fetal alcohol spectrum disorders: A review of the neurobehavioral deficits associated with prenatal alcohol exposure. *Alcohol. Clin. Exp. Res.* 43, 1046–1062.

May, P. A., Chambers, C. D., Kalberg, W. O., Zellner, J., Feldman, H., Buckley, D., et al. (2018). Prevalence of fetal alcohol spectrum disorders in 4 US communities. *JAMA* 319, 474–482.

Meisler, S. L., and Gabrieli, J. D. E. (2022). A large-scale investigation of white matter microstructural associations with reading ability. *Neuroimage* 249:118909. doi: 10.1016/j.neuroimage.2022.118909

O'Leary, C. M., Taylor, C., Zubrick, S. R., Kurinczuk, J. J., and Bower, C. (2013). Prenatal alcohol exposure and educational achievement in children aged 8-9 years. *Pediatrics* 132, e468–e475. doi: 10.1542/peds.2012-3002

Ostertag, C., Reynolds, J. E., Dewey, D., Landman, B., Huo, Y., and Lebel, C. (2022). Altered gray matter development in pre-reading children with a family history of reading disorder. *Dev. Sci.* 25:e13160.

Paintner, A., Williams, A. D., and Burd, L. (2012). Fetal alcohol spectrum disordersimplications for child neurology, part 1: Prenatal exposure and dosimetry. *J. Child Neurol.* 27, 258–263.

Popova, S., Lange, S., Poznyak, V., Chudley, A. E., Shield, K. D., Reynolds, J. N., et al. (2019). Population-based prevalence of fetal alcohol spectrum disorder in Canada. *BMC Public Health* 19:845. doi: 10.1186/s12889-019-7213-3

Pugh, K. R., Mencl, W. E., Jenner, A. R., Katz, L., Frost, S. J., Lee, J. R., et al. (2001). Neurobiological studies of reading and reading disability. *J. Commun. Disord.* 34, 479–492.

Qiu, D., Tan, L. H., Siok, W. T., Zhou, K., and Khong, P. L. (2011). Lateralization of the arcuate fasciculus and its differential correlation with reading ability between young learners and experienced readers: A diffusion tensor tractography study in a Chinese cohort. *Hum. Brain Mapp.* 32, 2054–2063. doi: 10.1002/hbm.21168

R Core Team (2020). R: A language and environment for statistical computing. Vienna: R Foundation for Statistical Computing.

Reynolds, J. E., Grohs, M. N., Dewey, D., and Lebel, C. (2019a). Global and regional white matter development in early childhood. *Neuroimage* 196, 49–58.

Reynolds, J. E., Long, X., Grohs, M. N., Dewey, D., and Lebel, C. (2019b). Structural and functional asymmetry of the language network emerge in early childhood. *Dev. Cogn. Neurosci.* 39:100682. doi: 10.1016/j.dcn.2019.100682

Reynolds, J. E., Long, X., Paniukov, D., Bagshawe, M., and Lebel, C. (2020). Calgary preschool magnetic resonance imaging (MRI) dataset. *Data Brief* 29:105224.

Saygin, Z. M., Norton, E. S., Osher, D. E., Beach, S. D., Cyr, A. B., Ozernov-Palchik, O., et al. (2013). Tracking the roots of reading ability: White matter volume and integrity correlate with phonological awareness in prereading and early-reading kindergarten children. *J. Neurosci.* 33, 13251–13258. doi: 10.1523/JNEUROSCI.4383-12.2013

Shaywitz, B. A., Shaywitz, S. E., Pugh, K. R., Mencl, W. E., Fulbright, R. K., Skudlarski, P., et al. (2002). Disruption of posterior brain systems for reading in children with developmental dyslexia. *Biol. Psychiatry* 52, 101–110.

Thieba, C., Frayne, A., Walton, M., Mah, A., Benischek, A., Dewey, D., et al. (2018). Factors associated with successful MRI scanning in unsedated young children. *Front. Pediatr.* 6:146. doi: 10.3389/fped.2018.00146

Treit, S., Lebel, C., Baugh, L., Rasmussen, C., Andrew, G., and Beaulieu, C. (2013). Longitudinal MRI reveals altered trajectory of brain development during childhood and adolescence in fetal alcohol spectrum disorders. *J. Neurosci.* 33, 10098–10109. doi: 10.1523/JNEUROSCI.5004-12.2013

Vandermosten, M., Boets, B., Wouters, J., and Ghesquiere, P. (2012). A qualitative and quantitative review of diffusion tensor imaging studies in reading and dyslexia. *Neurosci. Biobehav. Rev.* 36, 1532–1552.

Vigneau, M., Beaucousin, V., Herve, P. Y., Duffau, H., Crivello, F., Houde, O., et al. (2006). Meta-analyzing left hemisphere language areas: Phonology, semantics, and sentence processing. *Neuroimage* 30, 1414–1432. doi: 10.1016/j.neuroimage.2005.11. 002

Wakana, S., Jiang, H., Nagae-Poetscher, L. M., Van Zijl, P. C., and Mori, S. (2004). Fiber tract-based atlas of human white matter anatomy. *Radiology* 230, 77–87.

Waldie, K. E., Haigh, C. E., Badzakova-Trajkov, G., Buckley, J., and Kirk, I. J. (2013). Reading the wrong way with the right hemisphere. *Brain Sci.* 3, 1060–1075.

Walton, M., Dewey, D., and Lebel, C. (2018). Brain white matter structure and language ability in preschool-aged children. *Brain Lang.* 176, 19–25.

Wang, Y., Mauer, M. V., Raney, T., Peysakhovich, B., Becker, B. L. C., Sliva, D. D., et al. (2017). Development of tract-specific white matter pathways during early reading development in at-risk children and typical controls. *Cereb. Cortex* 27, 2469–2485. doi: 10.1093/cercor/bhw095

Wickham, H. (2016). ggplot2: Elegant graphics for data analysis. New York, NY: Springer-Verlag.

Wyper, K. R., and Rasmussen, C. R. (2011). Language impairments in children with fetal alcohol spectrum disorders. J. Popul. Ther. Clin. Pharmacol. 18, e364–e376.

Yu, X., Dunstan, J., Jacobson, S. W., Molteno, C. D., Lindinger, N. M., Turesky, T. K., et al. (2022). Distinctive neural correlates of phonological and reading impairment in fetal alcohol-exposed adolescents with and without facial dysmorphology. *Neuropsychologia* 169:108188. doi: 10.1016/j.neuropsychologia.2022.10 8188

Zhao, J., Thiebaut De Schotten, M., Altarelli, I., Dubois, J., and Ramus, F. (2016). Altered hemispheric lateralization of white matter pathways in developmental dyslexia: Evidence from spherical deconvolution tractography. *Cortex* 76, 51–62. doi: 10.1016/j.cortex.2015.12.004